Atomic Theory Review / Practice quiz:
Topics on quiz

*Ions, Isotopes, ground state vs excited state of electrons
*Analyzing the Bohr model of hydrogen, emission spectrum

*Relationship between frequency, wavelength, and energy

*Wave / particle duality

*Proper electron configuration and orbital notation
1) Which scientist theorized the plum pudding model?
a) Democritus
b) John Dalton
c) J.J. Thomson
d) Ernest Rutherford
e) Erwin Schrodinger
2) Who was the first scientist to suggest that atoms existed?
a) Democritus
b) John Dalton
c) J.J. Thomson
d) Ernest Rutherford
e) Erwin Schrodinger
3) The current cloud model of the atom was developed by:
a) Democritus
b) John Dalton
c) J.J. Thomson
d) Ernest Rutherford
e) Erwin Schrodinger
4) The scientist with the four part theory: All elements are composed of tiny indivisible particles called atoms. Atoms of the same element are identical and atoms of one element are different of atoms of any other element. Atoms of different elements can physically mix together or chemically combine into whole number ratios.
a) Democritus
b) John Dalton
c) J.J. Thomson
d) Ernest Rutherford
e) Erwin Schrodinger
5) The scientist that discovered the dense, positively charged nucleus through the gold foil experiment was?
a) Democritus
b) John Dalton
c) J.J. Thomson
d) Ernest Rutherford
e) Erwin Schrodinger
6) The scientist who proposed electrons were found in discrete orbitals around the nucleus was:
______________________________________

7) Isotopes have the same number of _____ but different number of _____.
a) protons, neutrons
b) neutrons, protons
c) protons, electrons
d) electrons, protons
8) How does an S 2- ion differ from an electrically neutral sulfur atom?
a) mass number
b) atomic number
c) nuclear charge
d) number of electrons
9) Two isotopes of element X have atomic masses and relative abundances of 78.92 amu (50.69%) and 80.92 amu (49.31%). What is the average atomic mass?  What element is this?
________________________________

10) Nitrogen-15 with a charge of 3- has how many protons, neutrons, and electrons?

___________________________________

11) Which electron transmission in the hydrogen atom will result in the emission of red light?
a) n = 2 to n = 3
b) n = 2 to n = 4
c) n = 3 to n = 2
d) n = 4 to n = 2
12) Which type of electromagnetic radiation has the highest frequency?
a) radio waves
b) gamma waves
c) visible light
d) ultraviolet light
13) Which electron transmission in the hydrogen atom will result in the emission of ultraviolet light?
a) n = 2 to n = 3
b) n = 2 to n = 4
c) n = 3 to n = 2
d) n = 4 to n = 1
14) An electron in an atom of hydrogen goes from energy level 6 to energy level 2. What is the wavelength of the electromagnetic radiation emitted?
a) 410 nm
b) 434 nm
c) 486 nm
d) 656 nm
15) Which is the electron configuration of calcium?
a) 1s22s22p63s23p8
b) 1s22s22p63s23p64s2
c) 1s22s22p63s23p63d2
d) 1s22s22p83s23p6
16) Predict the electron configuration for an element with no more than 36 electrons.
